-
o

2 0.18F
> -
2 0.16F
o
o F
20.14
0]
0.12
- o o
0.08 : :
0.06
0.04
0.02

oy

2
20.18
2
§0.16
o
£0.14
(]

0.12

Ratio

Efficiency vs P,

0.2

[y
TTT T

107 1 10 prT (Ge\})o3

—=— DQM_CKF_TTbase
—e— DQM_CKF_TTtest125xNEW

0.2

0.1

0.08f
0.06f
0.04
0.02

TTT T T TTT TTT
T ]
H H H
. N .

N N H
el

................................................

Y| ST

0.950

Efficiency vs ¢

=Y 0.2_:
0.18F
0.16F;
0.14F
0.12F
0.0
0.08F -
0.06f
0.04E
0.02f:

Y
>
>
(8]
c
Q

=}
=
5}

Ratio

1.0 §

||'-||||

TP @



	Contents
	Page 1


